
--------------------------------------------------------------------------- 

   Elementy trasy  
--------------------------------------------------------------------------- 

 

 

 

 ELEMENT             OD         DO 

 

     Prosta     0+000,00     0+164,28   L=164,28m                                          

 Łuk kołowy     0+164,28     0+217,20  R=1000,00m       T=26,47m        B=0,35m            

                                         L=52,92m     g=0,0529rd      g=3,3692g            

     Prosta     0+217,20     0+664,79   L=447,59m                                          

 Łuk kołowy     0+664,79     0+724,46   R=500,00m       T=29,87m        B=0,89m            

                                         L=59,67m     g=0,1193rd      g=7,5975g            

     Prosta     0+724,46     0+968,60   L=244,14m                                          

 Łuk kołowy     0+968,60     1+061,34   R=550,00m       T=46,48m        B=1,96m            

                                         L=92,74m     g=0,1686rd     g=10,7341g            

     Prosta     1+061,34     1+165,49   L=104,15m                                          

     Prosta     1+165,49     1+294,39   L=128,90m                                          

 Łuk kołowy     1+294,39     1+339,62  R=1000,00m       T=22,62m        B=0,26m            

                                         L=45,24m     g=0,0452rd      g=2,8799g            

     Prosta     1+339,62     1+538,47   L=198,85m                                          

 Łuk kołowy     1+538,47     1+588,46   R=205,00m       T=25,12m        B=1,53m            

                                         L=49,99m     g=0,2438rd     g=15,5232g            

     Prosta     1+588,46     1+595,76     L=7,31m                                          

 Łuk kołowy     1+595,76     1+673,29   R=300,00m       T=38,98m        B=2,52m            

                                         L=77,52m     g=0,2584rd     g=16,4511g            

     Prosta     1+673,29     1+819,85   L=146,56m                                          

     Prosta     1+819,85     1+917,43    L=97,58m                                          

 Łuk kołowy     1+917,43     1+955,78   R=600,00m       T=19,18m        B=0,31m            

                                         L=38,35m     g=0,0639rd      g=4,0691g            

     Prosta     1+955,78     1+994,79    L=39,00m                                          

 Łuk kołowy     1+994,79     2+052,56   R=350,00m       T=28,96m        B=1,20m            

                                         L=57,78m     g=0,1651rd     g=10,5094g            

     Prosta     2+052,56     2+064,14    L=11,57m                                          

 

 


